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Answer four questions from two genres only. These questions should be taken from the two genres you
have studied.

Genre: Epic

Question 1. Homer Iliad 6.144-159
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(@) ““Tudeldn ... dmolijyec. (lines 145-149). Explain the rhetorical features used
here and their relevance to the context. Are lines 150—-151 consistent with lines
145-149? Why, in your opinion, does this episode occur here? [8 marks]

(b) émel woAV Ppéprepos nev, (line 158). What conclusion do you draw about
Proitos from these words? Is it consistent with what occurs after this passage? [2 marks]

(c) What two facts about the gods are mentioned in this passage? [2 marks]
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Genre: Epic

Question 2.

(a)

(b)

(©)

(d)

2210-2952

Homer Iliad 6.486—502
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“Jatpovin, ... yévnrat. (lines 486-489). Who is speaking to whom? What is

the purpose of the speech and how likely is it to succeed?

Scan lines 491-492 (iordy T ... peAnoer).

[3 marks]

[2 marks]

*Qs dpa ... Irmovpur (lines 494-495). Explain the significance of this action

in its context.

Translate o0 yap pw ... "Ayai@y. (lines 501-502).

[2 marks]

[3 marks]

Turn over
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Genre: Historiography

Question 3.

(a)

(b)

(©

(d)
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Thucydides 2.53.1-3

10
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& mporepov dmexpUmrero (line 2). What was previously hidden and why?

dote Tayelas ... fyoduevor. (lines 5-7). Explain what is happening here and
the reason given for it.

TO dobavt xaA® (line 8). What is this motive? Why is it no longer accepted?

Translate &r¢ 8¢ ... karéarn. (lines 10-11).

[2 marks]

[3 marks]
[2 marks]

[3 marks]
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Genre: Historiography

Question 4.

(@)

(b)

(©)
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Thucydides 2.41.2-5
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kal &s od Adycwv ... enualve. (lines 13—16). Whataccusation does Thucydides
wish to answer here? Which single word summarizes the essence of his case?

kal ovdéy mpoodeduevor ... BAdyret, (lines 22-24). Explain the relevance of
Homer here.

Choose four examples of the rhetorical techniques from this passage which you
have not used in your other answers and explain the construction and effect
of each.

[2 marks]

[2 marks]

[8 marks]

Turn over
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Genre: Tragedy

Question 5. Sophocles Oedipus Tyrannus 1073—1085

(@)

(b)

(©

(d)

2210-2952
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What has happened immediately before this passage, and why?

omoio xpNilet ... TOOpOV yEvog. (lines 1076-1085). Summarize any two
points made by Oedipus in this speech and describe what they tell the audience

about Oedipus’ strengths and weaknesses.
Translate &y® 8’ épavtov ... drypacdioopat. (lines 1080-1081).

Scan lines 1084—1085 (TO1000€ ... YEVOG.).

[2 marks]

[3 marks]

[3 marks]

[2 marks]
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Question 6. Sophocles Oedipus Tyrannus 116-131
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(a) What is the problem that Oedipus wished to solve? How did he attempt to do so
up to this point in the play?

(b) Select from these lines four passages that reveal Oedipus’ character and show
how each does so.

() AMOTAS ... XEPDV. (lines 122-123). For the coherence of the plot it is
essential that the sole survivor from the attack on Laius should have lied to Creon.
What was the lie and why did the survivor make it up?

2210-2952

[2 marks]

[8 marks]

[2 marks]

Turn over
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Genre: Comedy

Question 7. Aristophanes Frogs 21-37

(@)

(b)

(©)

(d)
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Describe three things about the travel and carrying arrangements of
Dionysus and Xanthias which contribute substantially to the humour of the
opening scene.

eir’ ovx ... ¢pépoy; (lines 21-24). Explain Dionysus’ suggestion here. Why was
the suggestion made?

vids Srapviov, (line 22). Instead of Srauviou, what would the audience
expect to hear? Why is the word both appropriate and inappropriate?

olpor ... pakpd. (lines 33—34). Explain Xanthias’ argument.

[3 marks]

[2 marks]

[3 marks]

[2 marks]



Genre: Comedy

-9- M10/2/GREEK/HP2/ENG/TZ0/XX

Question 8. Aristophanes Frogs 1467-1481

(a)  pepmuévos ..
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1480
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. ¢iovs. (lines 1469—1470). For what two reasons is Euripides

confident that he will be successful?

(b) % yAérr dudpox’, (line 1471). How do these words relate to the answer to
question (a)?

(c) Choose four examples from the passage which are intended to provoke a
humorous response, and explain how each succeeds.

2210-2952

[2 marks]

[2 marks]

[8 marks]

Turn over
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Genre: Philosophy

Question 9. Plato Crito 46b1—c6

(a)

(b)

(d)

2210-2952

10

*Q ¢pine Kplrwy, ... xalemwrépa. (lines 1-3). What has Crito been
recommending immediately before this passage? What two possible immediate

2Q. *Q ¢pike Kpirwy, ) mpobupla oov moAlol aflu el
perd Twos dpfornros el el d¢ wij, ow pellwy TOTOUTE
Xa\emwrépa. oromelohar ody xpn Nuas elre Tadra mWpuKTEéOY
€ite pi* ws éyw ov viy wpdTOY AANG Kal del TowolTOos 0los
TV éuby undevl dM\o melfecbar ) TG Adyw Os Gv o
Aoyilouévew BéNTiaros palvnral Tovs &7 Adyous obs &v TH
épmpocley E\eyor ob Ovvamar viv ékBakely, émeadi po
70€ 1) TUXY Yéyovey, GAAG oxedov TL Spowor ¢palvovral pot,
kal Tovs avTovs mperPBelw kal Tyud olomep kal mPOTEPOV®
v & p) Beltiw Exwuer Aéyew é&v O mapdvr:, €0 imO
8ri oU i oot cvyxwprow, ovd av wAciw TOV viy Tapov-
Twy N TOV TOANOY dlvauis domep maldas MUAS JLOPMO-
AUryTal, deopovs kal avdrovs émméumovaa Kal XpnudTwy
apaipées.

reactions does Socrates consider?

0s av pot Aoyilouévw BértioTos palvnrar. (lines 5-6). What possible

weakness do you detect in this argument?

ToUs 07 Adyovs ... kat mpdrepov: (lines 6-9). Is this a sound basis on which

to construct an argument, or evidence of Socrates’ stubborn nature?

deopovs ... favdrovs ... xpnudrwy dpapéoes. (lines 13-14). Comment on

the order and grammatical form of these words.

[3 marks]

[2 marks]

[3 marks]

[2 marks]
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Genre: Philosophy

Question 10. Plato Crito 48b11-d7

(a)
(b)

(©)

10

15

~ - ~ -~ ’
Oidxkodr éx TGOV Opoloyovuérwy ToUTO TKETTEOY,
’ ~ \ !
morepov dlkatov éue wlévde mepaclar éfiévar wa) adpévrwy
’ 14 N\ ) / \ N \ I ' /
Abnralwy 1 ov dikawv: kal éav pév Paivyrar dikawy,
/ Yy SN . ! 3~ & o \ ’ N !
welpopela, €l 8¢ i), ébper. as 0€ OV N€yels TAS OKOJeLs
wepl T Waldoews Xpypatwy kal 60éns kal waldwy Tpodi)s,
\ € Y ~ ~ - r 4 5 ~ € 4
p ws a\ndds Taira, w Kplrwy, oxéupara 1) TGr padiws
] 5
amoxTewdrTwy Kai aaBwwokopévwy Y dv, € olol T oav,
ovdevl v v, TovTwy TOY TOMGY. yuiv &, émedi) & Aoyos
o e .~ \ L) » / TN N3y S
oUTws alpel, 1) oUdey GANo oxemTéor 7 1) Omep vuvdy) €Aéyo-
pev, mérepor dikaia mpalomer kal xpipara TEAODYTES TOUTOLS
Tols éue évBévde éfalovow xal xdpiras, kal alrol éayovTés
A ’ b -~ 3 ¥ g h) 4 / ~
Te Kal €fayduevol, N TH aAnbela adiknooper wavTa TalTA
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TL Op@jrev.

Translate QUxody éx TGV ... ) 0¥ dlkatov: (lines 1-3).

Choose four points from Socrates’ arguments for not choosing exile, and consider
how persuasive each is. You should identify and discuss your examples with
close reference to the Greek text.

Ka\®s puév pov doxels ... Ti dpdpev. (lines 16-17). Basing your
answer on Crito’s comment, how far do you think that Socrates has truly
persuaded Crito?

[2 marks]

[8 marks]

[2 marks]
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